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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20
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a)

b)

d)

Define Random variable.

I fee peraifeia sices mie |

Give the classical definition of probability.
G- oAl el mie |

What is conditional probability?

SEANCF TG 2

Write down the sample space when a fair coin

is tossed three times.
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g)

h)

1)

k)
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If A and B are two independent events then prove

that A and B are also independent.

A 93¢ B 7fb FI&9 9641 21 (rdle @, A @R B
AR FIRI SO |

What is the Probability density function?
Probability density function &2

What is Sampling error?

Sampling error I & (@RI 2

What do you mean by Point estimation?
o eligpets FeTCe 6 (@2

Define 'Standard Normal Variable'.

‘G FeIf beTe -9 H<ee] (1Y |

Distinguish between a 'simple event' and

'compound event'.
e WOl @ (1] WO ) AN T |

If the relation between the two variable x and y
is 3x+5y = 116 and the expectation of x is 12,
find the expectation of .

X @R y 7fb G S0a 751 2e1 3x+5y = 116
X943 12 3=y @9 expectationFe ?
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0)

How many sample of size 3 can be drawn from
a population of size 5 under 1) SRSWR and
ii) SRSWOR?

AT SFIF @ AN AP 5 20+ (1) SRSWR @R
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Define Minimum Variance Unbiased Estimator.
Minimum Variance Unbiased Estimator €3 #<es]
78 |

The mean and variance of a binomial
(n, p) distribution is 20 and 16 respectively. Find

the values of n and p.

@35 o IR (n, p) 99 91T 8 (WSl @F ST
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What is 'Sufficient Estimator'?

'Sufficient Estimator' 2

Answer any four questions: 5%x4=20
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a)
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State and prove the Total Probabilty theorem
when the events are not mutually exclusive

events.
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b)

d)
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For any two Events A and B, it is given that
P(A)=0.6, P(AnB)=0.3 and P(A/B) = .75.
Find: (i) P(A) (ii) P(B) (iii) P(AnB),
(iv) P(AnB) and (v) P(ANB).

A @3 B 70 96417 & (el =itz @& P(A) = 0.6,

P(ANB)=0.3 93 P(A/B) = .75 fasfeifie

i) P(A) i) P(B) iii) P(ANB), iv) P(ANB)
4% v) P(ANB)

Find the mean and variance of the Poisson

distribution.
e Fie e ¢ (ens [T 54 |

Show that the binomial distribution is symmetric

distribution of P = %
W P = &, S0 (e (@ i e effeor |

Give a short notes on Maximum likelihood

estimator.

Maximum likelihood estimator 43 C7 @6
AR Bl (w1 |
What do you mean by Stratified Sampling? What
are the steps to be followed to draw a sample
from a population using Stratified Sampling
Method?
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3.  Answer any two questions:

Stratified Sampling J&ce & @R ? Stratified
Sampling 2 T F(H G Aoe (A Tl
AR G 1% 1% il S 90 59 |

10x2=20
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a)

b)
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Let x be a normally distributed variable with
mean 10 and s.d. 50. Obtain the following
Probabilities (using standard normal probability
table:

i)  P(XL- 108), ii) P(| x | > 108),

iii) P (10<X< 108), iv) P(X<108[X>10).
22%4=10
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i) P(XL- 108), ii) P(| x | > 108),

iii) P (10<X< 108), iv) P(X<108/X>10) |

Derive the mathematical expectation and
standard error of sample mean in random
sampling in case of i) with replacement and

i1) without replacement. 5x2=10

SRSWR € SRSWOR &3 (%4 (1) =1 5108 Sopii
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d)
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Define an 'estimator' . When does it
become 'unbiased' and 'efficient'? Give an

example.

‘AepeTh’ a7 A Wi | Gff FUF ARG 1wy
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Define a 'Consistent' estimator. Give an

example. (2+4)+4=10

THIZRe A2 A<e| 1S - TG AT

State and prove the theorem of compound
probability in case of only three events :
A, A andA;

ol 951 A, A, @R A, i T @i
TooAmfs (=19 ¢ @i 51 |

When two fair dice is tossed, find the
probability that the first is a 6, given that

the sum is .

b WCGTeT 2@l 531 S0 &2 53T 6 e A&
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